Seat No.:

Subject Code: 3360606

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING-SEMESTER-VI « EXAMINATION-SUMMER-2019

Subject Name: Railway, Harbour & Tunnel Engineering

Time: 2:30 PM-5:00 PM

Instructions:

Q.1

Q.2
ETRE

ocoukrwdE

wounN o

RO O® OGN M £ XA W

o
o <

()
()

(@)
()

(b)
(“)

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten. £21H{2{l SIOURL Aldell Fllod 1Y)
State requirements of ideal permanent way.

w1621 JAU i) e UL QL.

Define : (1) cant deficiency (2) cant excess
el AU : (3) 52 SlslAlusr{l () 32 A sAA

What are the maximum permissible value of super-elevation in India for
different gauge.?

HIRAU el el Ao Ul Bolde HedH ALSU Y& Q) 87
State importance of track drainage.
25 Sal%et] WAL LIl

List components of switches.
Rasil teslefl ylel 241Ul

Why and where is Warner signal provided?
dledR A5d ALHLE Wl KLY SAIH w1d B2

What is gathering lines?
Aol Eige wed gj?
State difference between wharf and jetty.

csl§ vla) B2lell dslad ).

List explosive materials used for blasting.

oG [[R22L HI duldl [dxslessil Alel A1),
Why lining is necessary?

qleSeilolef] Qil 2N ULd B2

Explain failure of rails.

Ulele] 586 uuosdl.

OR
State functions of rail.

deetl s L),

What is ballast? State functions of ballast.
Qe e 3ed 97 Adiesil 51l esalldl.

OR
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Explain negative super elevation.
A\Eld Gl UHdl.

Explain safe speed on curve.
qo1is GUR ddlHd 1S AHdl.

OR
Write short note on maintenance of gauge.

Aogeil il (dQl &seile eull,

State requirements of a good track drainage system.

ARL2S 3% (Aol 3 Uld) 2 lidl.

OR
Explain radius of curve and or degree of curve.
dsefl (Aol Al dseil S1afl yuesdl.

State functions of railway station.
ed R22letell sl i,

OR
Explain diamond crossing.
SIIHS s14TaL (a9l yuoal,

Wbat is turnout? Statg components of turnout?
2o ¥{1B2 wed 9j? 2+l wIBeqll e sl wBlId).

OR
Explain working pripcipal of Semaphore signal.
AHLSIR (AAde1l s1 Riedid quedl.

State methods for control of train movements.

2ollofl W cRydRall (1241 Hiefl Tl waLldl.
OR

Draw net sketch Pf right hand turnout.

ASUR( W 1%ell 2ol W1G2o{l 2ae9 w15(d €21

State functions of points and crossing.
U2y el S1{1Le11 511 2alLd.

OR
What is interlocking? State principles of interlocking.

o511 A 2q 9j? Seed|5[olell Rietidl lidl.

Enlist major sea ports in India.

HRdetl Hud eRYULEY viels(l ALEl A1),

OR
State requirements of good harbour.
AR oleRlef] el %L Lcl.

Give classification of shaft and explain any one of them.
21152 4151 WU A Auiefl 217 d A s (AR yuxd).

OR
State classification of tunnel.

2elete] do{[5Q1 A 1Y),

Draw neat sketch of components of harbor state its functions.

SludRel] 61191 e2tlad] 2are9 w15[(d €12 A Asil 513 2aLLd).
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Explain Light house.
qlege slGY (Al vuosdl.

Explain Dolphin.
sleslet (9l duondl,

Differentiate between natural harbour and artificial harbour
sedl WieR ¥a §[AH vieell dslad dull.

State types of lining.
dLeSeiloletl UsLR) salLdl.
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